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SUMMATIVE A SESSMENT -1,2014
SCIENCE

Class - X

Time Allowed : 3 hours ' Maximum Marks : 90

General Instructions :
1. The question paper comprises of two Sections, A and B. You are to attempt both the

sections.

2. All questions are compulsory
3. All questions of Section-A and all questions of Section-B are to be attempted separately.
4. Question numbers 1 to 3 in Section-A are one mark questions. These are to be answered in

one word or in one sentence

5. Question numbers 4 to 6 in Sections-A are two marks questions. These are to be answered
in about 30 words each.

6. Question numbers 7 to 18 in Section-A are three marks questions. These are to be
answered in about 50 words each

7. Question numbers 19 to 24 in Section-A are five marks questions. These are to be
answered in about 70 words each.

8. Question numbers 25 to 33 in Section-B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to select one most appropriate
response out of the four provided to you.

9. Question numbers 34 to 36 in Section-B are questions based on practical skills are two
marks questions.

SECTION-A
.'//
% Why is it advised to use 1odised salt in our diet ? 1
e i
2 Define the potential ditference between two points. 1
3 Mention any one reason due to which most of the thermal power plants are 1
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e l‘%é't up near coal or oil fields.
}/ Mention the names of the metals for the following : '
(1) Two metals which are alIOVed,w;th iron to get stainless. steel.

(i) Two metals which are used for makmg Jewellery

g : .

'/ - - . . . - . - -
5.~ What is universal indicator ? State the purpose for which this indicator is used.

G/ I(;)/ Why cramps are caused in our muscles during sudden activity ?
/‘/(_})/ Name the type of re‘;plratron that takes place in yeast during fermentation

A student dropped a few pleces of marble in dilute hydrochloric acid contained in a test tube. The
. evolved gas was then passed through lime water. What change would be observed in lime water ?
A Write ataooed chemical equations,for bozh the changes.¢ observed '

X IR A KO f .anc.x.._.n.o A 00 SRR RS TP 3 ;
" Balance the following chemical equations: / Aishe phw 1k
el St b v itiras .-r,,;r; nﬂ‘-!rn{ ‘,a,.‘» £ e, R i Tt S ool eEerer

NH4 Cu0 - Cu+N + H 0 H

o 5 . i
wihelp l' " .

o sus ellite Goiry no Leesd i e m Ja m}' ' E 3 ‘
9 Give suitable reasons for the following statements :

()/ Shining surface of metals is tarms,hed after some time.

So Jum and potassium are kept under kerosene 011

. 2 |

T]enerally no hydrogen gas is evolved when metals react with d;lute nitric acid.

_‘1_9/ With the help of bgjlm;tchemieatequation&explam why :
(i' ) respiration is considered as an exothermic reaction.
(LL “photosynthesis is considered an endothermic reaction.

LYI/ Draw a neat diagram of excretory system of human beings and label on it :
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1? . (a)

(b)

10th Science

Left kidney : __/(K/Urinary bladder

Name the organs where receptors are usually located?

State the functions of :

/(1')'. gustatory receptors

7 ,(ii}’/ olfactory receptors

/.//L')

N

poo

113" Explain how does auxins promote the growth of a tendril around a sunoart?
\/

Identify the parts of a neuron
#

\Q}'/ Where information is acquired

{iil/ Through which information travels J

L/ State the purpose for which the following rules are used : 3

(@)

(ii)

i)

e

Right hand thumb rule
Fleming's left hand rule .

Flemin'g’-"s right hand rule (

resistors of 2 Q each are connected to a battery of 3 V as shown. Calculate the current 3

drawn from the battery and voltage across the 2 Q resistor.

20

16 .~ étudy the following circuit and find the potential difference across 4 € resistor

-
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10 th 5&%

\}/ Arun lives in an eco-friendly house. All rooms in his house are cross ventilated and well it 3
: &, i ! ) : _
with sun’s light. He has installed  solar panels on roof top and also uses solar devices Like
solar cooker, solar water heater etc.  Although he has spent some more money mitially on

these installations, yet he is happy now.
\(_i)/ State the reason behind Arun’s happiness.
i‘i}/ Which element is used in fabricating solar cells ?
(u_p)/ What inspirations should we take from A‘run 2
\/1,&/ Write any three characteristics of a good fuel. ; 3

19~  Five metals A, B, C, D and E were added to different solutions separately. The results 5
observed are shown in following table :

Metals | Solutions

FeSO4 CuSOq4 ZnSO4 AgNO3 Al (SO4)3
A No change | Nochange | Nochange | A coating | No change
1on the
metal
B A grey | A brown | Nochange | A coating | No change f
deposit on | coating on on the ;
the metal the metal 7 metal
C No change | Nochange [ Nochange | Nochange | Nochange
- | it
ST SO Y s epilbesae men el o 0l o S = = S
No change Nochange | A coating | No change
on the
metal |
IO e A e T T e S (D | ! I
k ] i Brown A coating | A coating | No change
: coating on the | on the

metal metal

I A |

Based on the observations recorded in the table answer the followiny -

/6 Write the most reactive metal.
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Write the least reactive metal.

What would be observed if metal D is added to a solution of copper sulphate ?

/
(i
}'ﬂf What would be observed if metal £ is added to a solution of rron (1) sulphate ?
’d

Arrange the metals A, B, C, D and E v order of decreasing reactivity.

\29/ Name the matenial used for the preparation of plaster of Paris: wWrte chemical equation tor 5
the reaction involved. What will happenaf heating is not controlled while preparing plaster of
Paris.  Which property of plaster of Pans s utilised in making casts for broken limbs i

hospital. Write an cquation to show the reaction between plaster of Parts and wates

1?/1/ Define heterotrophic mode of nutrition. Explain three ditferent wavs by which heterotrophs 5
obtain food. Write two points of difference between autotrophs and heterotrophs.
i
I/ //’ . - - .
22~ -Draw the pattern of magnetic ficld lines through and around a current carrying, solenoid. 5

___é&}ﬁt does the magnetic field pattern inside the splenoid indicate 7 Explain how we can
utilize this field to make an eleclromagne[‘kasﬁwo ways to increase the strength of an
electromagnet.

@ /Séte the factors on which the resistance of a metallic wire depends. Define the term resistivity 5
and derive its SI unit. ]

%wire of length 1 metre and radius 0.02 ¢cm has_a resistance of 5.0 ohms. Calculate the
resistivity of the material of the wire. ‘

\}ﬁ/ Draw a labelled circuit diagram to study a relationship between potential difference (V) across 5
the two ends of a conductor and the current (I) flowing through it. State the formula to show
how I in a conductor varies when V across it is increased stepwise. Show this relationship also

on a schematic graph.

Calculate the resistance of a conductor if the current Howing 1]11‘111:5',“ it is 025 A when the

applicd potential difference s 1.0V

SECTION - B

25 %,Na()['i 1s added to distilled water the, ptH of new solution sl be 1
>7 b« c 7 a0
(A
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26 Concentration of H' of will be lowest for the solution which has a pH value : 1
(@ 14 ' w8 @ 5 d 3
27 Quict limeisa: 1
(aV white powder (b) brown powder
() blue powder (d) vellow powder
28 Parinita took three metals labelled P, Q and R she carnied out displacement reactions with 1
their salt solutions and tound that 7 1s less reactive thdn [ but more reactive than Q. The
metals P, Q and R respectively could e
) Zane, Copper, Alumimium (1) Copper, Zane, Alunvnmum
() Aluminium, copper, zine () Copper, Alummiam, Zine
29 Rohit observed the formation of a coating when he added the solution of copper sulphate to 1
the iron nails. This deposition 1s of
(a) Iron (by . Copper
(c) Iron sulphide Jdy Sulphur
30 In the series combination of resistors shown below the maximum equivalent 1
resistance will be in the combination :
AP B84 D o
(A) — S AAAAS S TAAAANA———e
A 129 B C 3Q D W
(B) ——AAAA—AAANANANAT—
&
© A 59 B C 102 p
@ A (b)B
(c) o (i) same in all the combinations
31 A student measured equivalent resistance of two resistances of a 45Q and 36Q) resistor 1
joined in parallel ? Correct value obtamed by him would be
(c"l) L 90
(6) 200
. (c) 4050
/ @) 800
)
32 During an experiment on photosyvnthesis, in the step shown n fipure below, the aicohol turns 1

preen because
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.J 10 th Science

WATER

|
() of heating
(b) chlorophyll bemng orgamic i naaae, dissolves o
(c)  of the impurities of the surroundimgs

(d) cells of leaf disintegrate in it

33 (@) A (b) B &) © by D

.Identify the diagram which is correctly labelled from the following, :

Water

rram seed
" ®)
(i
i‘ il] |
AN I FEIRN :
KOH 74 i IXQIN ,'I‘: E L
/ N P \ I
CQP‘J‘ﬁfi(ﬂg‘: ) Water I "\ )‘y;;’;%ﬁi’\ l : Water
B()ih:d_ gram seed Careen Jeaves
() {n

(a) A b) 13 (c) ¢ () N
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14 During an experiment a student obtains white precipitate of barium sulphate on muxing, two 2

aqueous solutions with each other. Name the two solutions he has mixed. Also state the tvpe

of reaction that has taken place.

25 . Whatis done when the pomters of ammeter and voltmeter do not comarde wath the zero mark

on their scales even when the circuitis open !

i
Ch

Draw a labelled diagram of a stomatal apparatus with open stomatal pore.
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